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& &
g Find synonym - g
S Eager - anxious, impatient, hopeful, keen e.t.c &
g Strange - peculiar, bizarre, unusual e.t.c g
& &
& Find antonym - &
S Destroy - finish, demolish, ruin, wreck e.t.c. >
& &
? “Build, restore” will be the opposite words. ?
(g Quiarrel - argument, fight, dissention e.t.c. (g
g “Agreement, accord” will be the opposite words. g
& ©
& Find idiom phrase - &
g To lead by the nose - to lead sameone by coercion or force. g
g Let be bygones - to tell. someone that they should forget about g
unpleasant things that-happened in the past.
< <
S ind misspelt'word (correctly spelt word) g
& Adjourn, &
& &
G Directions: In the following question, some part of the sentence may have errors. G
& &
& Find out which part of the sentence has an error and select the appropriate option. &
g If a sentence 1s free from error, select ‘No Error’. g
& 1. If it would rains (a)/, they will (b)/ not come. (c)/ No error (d) &
& A A &
S nswer - S
S S
& &
& S
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Solution - Generally if two clauses are connected with the conditional
conjunctions like - if, suppose, unless, until e.t.c. then the clause with such
conjunctions cannot use - will, shall, would, should. So remove “would” and use.

2. Organic pulses are so popular today (a)/ that many people wonder (b)/ how they
ever lived without them. (c)/ No error (d)

Answer - D
Solution - There is no error in the sentence.

Directions: In the following question, the sentence given with blank towbe filled in
with an appropriate word. Select the appropriate option.

3. My father did not approve the plan of travelling te.Uttarakhand
because of bad weather there.

a) of

b) one

c) to

d) with

Answer - A

Solution - “Approve + of + semething” is used.
4.1settled  Canada last year.

a) At

b) In

c) Off

d) On

Answer - B

Solution - “settled in Canada” will be used.

Directions: In the following question, out of the four alternatives, select the word
similar in meaning to the word given.

5. Abeyance
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a) Commencement

b) Perjure

c¢) Condone

d) Suspension

Answer - D

Solution - Abeyance - a state of temporary disuse or suspension.
6. Dauntless

a) Brave

b) Insane

c) Playful

d) Ugly

Answer - A

Solution - Dauntless - bold, brave, audacious, fearless e.t.c.

Directions: In the following question; out of the four alternatives, select the word
opposite in meaning to the word.given.

7. Clandestine
a) Abrupt

c) Hlicit

c) Open

d) Wary
Answer - C

Solution - Clandestine - secret, covert, furtive, surreptitious e.t.c.
“Open” will be the opposite word.

8. Intrepid
a) Greed
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b) Kind

c) Meek

d) Sigh

Answer - C

Solution - Intrepid - fearless, dauntless, bold e.t.c.
“Meek (submissive)” will be the opposite word.

Directions: In the following question, out of the four alternatives, selectthe
alternatives, select the alternative which best expresses the meaning ‘of the
idiom/phrase.

9. To steal a march

a) To act in a foolish way

b) To break something

¢) To outshine

d) To see a hidden meaning

Answer - C

Solution - To steal a march - Gain an advantage over unexpectedly or
secretly.

From the options “to outshine” will be the Answer.

10. In a jiffy

a) Fail to wirnvappreciation

b) Inan appropriate manner
c)-Something that is done very quickly
d) To fall in love

Answer - C

Solution - In a jiffy - very quickly or very soon.
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Directions: In the following questions, the sentence given with blank to be filled in

with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

Education is for life, not merely for a livelihood. As long as we are unmindful of
this the of our educational curriculum as well as that of our

and students is likely to remain it is not enough for a society to have
experts. It needs human beings who can think, feel and act generously, the kind of
people who cannot be replaced by computers and

11. As long as we are unmindful of this
a) Measure

b) Resource

c) Story

d) Truth

Answer - D

Solution - As given “Education is for life*dtis a statement which is a “truth”, so
“truth” will be used in the blank spacesx

12. The _ of our educational-cutriculum as well as
a) Efficiency

b) Effectiveness

¢) Quality

d) Quantity

Answer -.C

Solution,- we are not talking about the “efficiency” of educational curriculum but
“quality”.

13. That of our and students
a) Friends
b) Ideals

c) Parents
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& &
& d) Teachers ?
g Answer - D (g
& Solution - teachers and students must be used because we are talking about the &
g education. g
& 14. Is likely to remain ___itis not enough for a society to have experts. &
g a) Inadequate g
? b) Indifferent ?é
I
(g ¢) Represented )
g d) Unmeasurable g
& Answer - &
g Solution - Inadequate - lacking the quality or.quantity required. g
g 15. The kind of people who cannot replaced by computers and g
& a) Mechanics &
g b) Monitors g
? c) Robots g
<
& d) Televisions &
g Answer - C g
& Solution - Robots-will be the Answer. (&
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